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Mathematical Concepts — Joysheet 3 Name: She
MAT 117, Spring 2013 — D. Ivansié Show all your work!

1. (8pts) Sabrina would like to have $5000 for a decent used car. How much should she
deposit now in an account bearing 2.66%, compounded monthly, in order to have the desired
amount in three and a quarter years? How much of the $5000 came from interest?
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2. (6pts) Bank of Hind Quarters is offering a 2.38% interest rate on an account that is
compounded daily, while Rear End Bank has an account at 2.39%, compounded quarterly.

Which account is the better deal? ’ o
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3. (10pts) An investinent that you made quadrupled in value in 5 years. Assuming annual
compounding, at what anmual rate did this investment grow?
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4. (10pts) To save for a trip to Mt. Everest in six years (approximate cost 850,000}, you
make monthly deposits into an account bearing 6.5%, compounded monthly.

a) How much should vou deposit every month te reach your goal?

b) How much would you earn in interest over the six vears?
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5. (14pts) At the time of little Ruby's birth, her parents decided to save some money
for her college. They only started to have extra money when Ruby was 4, when they
started depositing $300 everv month into an account bearing 6.4% interest, compounded
monthly. When Ruby was 14, however, new financial hardship forced the parents to stop
their contributions, but they left the money in the account.

a) How much is in the aceount when Ruby is 187

b} How much of it was from dEI}USiL‘.:i_. and how much from interest?
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6. (12pts) Miguel would like to save 510,000 to add a jacuzzi to his home. If he can set
aside $350 every month into an account bearing 5.41%, compounded monthly, how long will

it take him to save the desired amount? = i o
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